. > B y
< v o | & ’ e - : 7 A | ®
S T e il A b
! 7 - T : ] -
Displacement Bore Stroke Max powerofspeed | ding speed Engagement No load free speed f| Spark plug Electrode gap Ignition system Air gap Type of carburetter and setting Fueltank volume  [f Weight {yngel gear reduction | Shatt thread Blade hole diameter | Blade ciameter Angle Max. shaft speed
Hubraum Bohrung Hub Eir b Ziindkerze Elektrodenabstand | Ziindanlage Luftspalt Vergasertyp und Einstellung Fillmenge des Gewicht Unfersetzung des Emg‘gﬁ;g purchm egse der Blattdurohmesser | Winkel Hochstdrehzahl der
Cylindrée Alésage Course Pulssance max. & Re’g\me de ralenti Régime Nombre de tours Bougie Ecartement des Systeme d'allumage | Ecartement Carburateur et réglage Kraftstofftanks Poids Demumgphcahon du [ Filet d'a Sageblat Diametro de hoja Angulo Vllesse max. de
Cilindrada Diametro de cilindro | Carrera Potencia maxima a | Régimen de ralenti | d'émbrayage max Bujia slectrodes Sistema de Distancia Carburador y reglaje Débit du réservoir de ff peso arter de renvoi Ele de flete D'a'"e"e Galésage Kiingdiameter Vinkel la
Slagvolym Cylinderdiameter | Slaglangd Max effekt vid Tomgéngsvarvtal | Régimen de Amaxima revolucion [f Tandstift Distancia ontre encendido Luftgap Férgasartyp och instalining o o tanaue | Vi Bﬁi’ﬂ,“,‘,g‘;',omnande Axelganga Velocidad max. de
\nngppsvarvtal Max rusvarvtal Elektodavstand Tandsystem deGomustvle %‘%ﬁ?ﬁﬁ"‘é’:ﬁ rf‘g“'em Max axelnastighet
*% Tankvol b | inghalsdiameter
kKW(HP) Ol NGK mm mm T mm
cc @ mm mm rem rpm rpm rpm  JChampion]| inch type inch type set liters kg inch mm deg rpm
v .
123C 34.0 065085 | 2700 | 3800 | 1700 |cnampon| 05 | WALBRO ZAMA 050 40 11.00 | 3/8-24(R) 37° 11700
1 _D*
123L/LD 245 34.0 70 0650851 2700 3800 | 11700 [ Champion f 0.5 | WALBRO | 0.3 ZAMA h=2 0.50 42 1146 | M10x1.25 30° 8000
7,800 RCJ 6Y 0.02 CD 0.012 JCIQEL24 L=1
E-techll 326C 24.5 34.0 o70 [ 9209 I 2700 3800 | 11700 [Champon] 05§ WAIBRO | 0.3 LANA H=>" 0.50 46 1:1.00 | 3/8-24(R) SZa 11 700

ZAMA H=2" 0.50 4.4/4.8 1146 | Mioxios | 254 200-255 30° 8000

Ftechll 326L.326L/LD**xseres] 25 | 30 | 210 | 03[0 0500 | Rcsy | oozl o | ooz
£E-techll 326RJX-Series326RX-Series 24.5 34.0 27.0 UALEEL

2) 2700 3800 11700+ | Champion 2 0.50 4.9 1:1.46 | M10x1.25 254 200-255 30° 8 000

T . LT . 09(1.2) « | Champion 0.5 WALBRO 0.3 . 25.4 7 860-
E-techll 326 E x-series 2 4o 2700 3800 11700 oaBY e co qo 1:1.40 | M10x1.25 2, 200 A
F-techll 326S x-series|] 245 34.0 270 | 0912 [ 5700 3800 | 11700+ | Champion | — 05 | WALBRO | 0.3 ZAMA H=2 0.50 9.0 1:40 292
0.9 (1.2 Champion | 05 | WALBRO | 0.3 ZAMA H=2" . i )
323C.325C x-series] 245 34.0 27.0 : ((JOO) 2700 3800 | 11700 | Chameon| 05 e I N P91 B 050 Q424140 1100 | 38-24R) 37 11 700
325E x-series : . : 032 2700 3800 | 11 700** | Champion WALBRO : H=2" 0.50 5.1 1140 | M10x1.25

9(12 117 hampi WALBR . ZAMA | H=2' . 254 .
323L/LD/325L x.serie/LD* *x.series | 245 34.0 2ro | 03 (()00) 2700 | seo0 [ M7, CR%TF;'{;” L3 . 0 oy |eidetel 050 |4omraal 1146 | Mioxi2s | 2 200255 | 30 8000
325R**x.seriesRU* *x-series/ RD* * x-series | 245 34.0 270 | 0902 [ 2700 3800 | 1700 FChampion [~ 05— ["WALBRO [ 03 ZANA = 0.50 T8RS 4146 | Mi0x125 | 254 | 200255 | 300 8000

09(1.2) «r | Champion | 05 | WALBRO | 03 ZAVA | H=2 . 254 i .
323R/RJ 245 340 270 oit2 | 2700 | 3800 | 11700 | Champion f - 05 e I P s 050 | 4542 | 146 [ wroxi2s | 2 200-255 | 30 8 000
324L/LD x-series] 250 35.0 260 | 98D T 3100 [ 4200 [ 11000 | NCOK 0.6 lkeda 05~ | WALBRO | H=FIXED I 50 [ 5154 | 1146 [mioxt2s | 224 | 30° 8 300

_ 08(1.1) - | NGK 06 ed 03 | WALBRO [ H=FIXED . %54 i :
324R x-series] 250 35.0 26.0 8L | s1w00 | 4200 | 11000 | NGK | OF e |08 [ WALBRO | IEFKED | g50 55 1146 | mioxt2s | EF | 200285 [ 30 8 300
232L 30.8 35.0 320 [0S T 2700 | 3800 | 11500 Cha;mpion 05 WAL; BRU [ Ud ] WALBRO | B=T) 050 62 1140 | Miox125 | 54 35° 8 500
1.1(1.5) w | Champion | 05 | WALBRO | 03 | WALBRO | H=1' . 2.4 i :
232R 308 35.0 320 29 | 2700 | 3800 | 11500 | Champion f - 0 o S el 0.50 65 1140 [mioxi2s | 2% | 200275 | 35 8500
132RJ.132R 318 38.0 260 | 9902 | 3000 3900 | 11000 | NGK v./ IREU Us | WALBRU [ FIEFIAED T g g9 6.1 1133 [ Mi2x1.75 | 2% | 200265 | 35° 9000

. WALBRO H=1* . 25.4 R 0
cD 0,012 WT 548 Lot 0.50 7.3 1:1.53 M12x1.75 1 200-300 35 7800

WALBRO | H=1-TIM T 080 | 846 | 1136 | miaxt7s [ 200 | 200800 [ 30° 9190

235R/RII 36.340.0 | 38.0/40.0 | 320 13&5) 2700 | 3800 | 11500+ | Champion

RCJZY | 002
240F/R 40.2 40.0 320

Champion

12 500

*okk 1.8 (2.4) Champion . . ZAMA™ | H=11/10" . } o
240R EP S | 2700 | 3700 | 12500 fCrameon | 0 oo Noteiiol oy | 08 86 1136 | Mi2t75 | 200 | 200300 | 30 9190
142R/142RB/142RJ 415 40.0 330 | SO0 [ 2600 | 3400 | 11000~ | eey 4 Rl 05 [ WALBRO f H=FIXED 1400 [ 77115 1 4:429 | mi2xt75 | 2% | 200300 | 35° 9300
2128 Champion | 05 SEM 03 ZAVA | H= . i .
345Fx/345FxT 430 4.0 325 528 | 2600 | sso0 | 1asoo | Champon f 05 f  BEW {03 ) WA 1= 0% | 7980 | 1120 |mi2xi75 [ 200 | 200800 | 24 10500
343R/345Rx 45.0 42,0 325 Lnampion ZANA ! 090 | 8280 | 1140 [m12d75| % | 200800 [ 35° 8900

Champion .
RCJ 6Y 0.02

250R 487 44.0 32,0 2128 Champion

. ZAMA H=1 . " 0
AM 49 0012 lciaEL 21 1 0.90 7.9 1:1.29 M12x1.75 20.0 200-300 24 10 500

WALBRO

: 0.80 9.2 1136 [ Mi2d75 | 200 | 200800 | 30° 9190
WALBRO | H=FIXED | 100

15 (20) | NGK . . : 254 i .
152RB/152RJ 201 2600 | 3400 | 11000 | LNGE 07 2 JroO { HEERED 1577 | 1129 | maxt7s [ % 200300 | 35 9300
252RX 50.9 45.0 320 | 2482 2700 4300 [ 14000 [Champon o O EECHOLGY - 03§ RALBHY | H=I-1 1 1 080 8.9 1136 | Mi2x1.75 | 200 | 200800 | 30° 10 300

ok 24(32) ~« | Champion [ 0.5 JELECTROLU 03 | WALBRO [ H=4/5* : i 0
252RX EP 509 45.0 320 J 2700 4300 [ 13500 | “RATOER | - T 0.0 1 o | bpaier |03 i | 080 8.9 1136 | M12x175 | 200 | 200-300 30 9930
3020 115 SER D i
265RX @O T 225 | 3500 [ 11500 1126 | Mi2x1.75 200-300 9120

*kk 3.0 (4.0) o Champlon 0 5 SEM TILLOTSON H FIXED
265RX EP --- siop |22 | sso oo | ey Gisco - a0 -- 2 | - -
<& Do not exceed the max no load free speed or engine damage may occur. This figure is for broken in unit. Reduce rpm by 600-700 rpm for a new product. 106 236274

Technical S Loecmcatlon 2004

Trimmers, Brushcutters, Backpacks, Edgers

VVVWIVLITTIVITIOWE PDal LS. COI




